=LPDB
3UDFRZQLN SRINaDG  GU - LHEE BWDUFJHZVND (ZD 7\J

3Q

F1ZDUWHN

7\6]

GSHF QDXF]

3RGVI SHGDJ GID

QDXF] VINyi
SRQDGSRGVIDZRZ\FK GU
_LHiE BIDUFTHZVND (ZD
=0 60 7/
1-$ 8&.81$ 0
3333

JU JIRGQH ] 1DSIVDPL
Z 8626

7\6]

6SHF QDXF]

3RGVI SHGDJ GID

QDXF] VINy4
SRQDGSRGVIDZRZ\FK Gl
- IHiE BIDUFTHZVND (ZD
=0 (o
@Go Do

: 88.81%0

3333

JU ZV\VIHPIH 8626

7\

6SHF QDXF]\ 3RGVIZD\

SHGDJRJINL GID QDXF]

V]Nyi SRQDGSRGVI Gl

. HiE BIDUF]HZVND (ZD

=DICFDRQUQH  )$ O
/ 1-$ 8&.81%0
3333

JU JIRGQH ] JDSIVDPL
28626 ZINJ
IDICFID  PIQXI Z JRG]

7\J

GSHF QDXF]\ 3RGVIDZ\
SHGDJRJINL GID
QDXFT\FLHL V] GU . LHiE
GIDUFTHZVND (ZD =DICFL
DRQIQH (OO

@Go Ho
& 8&.81$0
3333

JU JIRGQIH ] 1DSIVDPL Z
VAVIHPIH 8626  Z I\
IDICFD  GR

7\6]

GSHF QDXF]\ 3RGVIZD\
SHGDJRJINL GID QDXF]
V]Nyi SRQDGSRGVI Gl
_IHiE BIDUFTHZVND (ZD
=0 o
Go o

- 8&.81%$0

3333

JU ZV\VIHPIH 8626




=LPDB

3UDFRZQLN SRINaDG  GU - LHEE BWDUFJHZVND (ZD 7\J

- N
z 6HPLQDUXP G\SIRPRZH
O GU -IHiE BIDUFTHZVND
%) (ZD =DICFLD RQ NQH
)8/ =
a 7\G]
z 6HPLQDUXP
| PDJWVIHWNIH GU . [HiE
§ 6IDUFJHZVND (ZD =%
)$ 6 - 1-%
N N 7\G] 7\G] 7\G]
6SHF QDXF]\ 3RGVIDZ\ 6SHF QDXF]\ 3RGVIDZ\ 6SHF QDXF]\ 3RGVIDZ\
6HPLQDUXP 3RGVIDZ\ SHGDJRJINL GID SHGDJRJINL GID SHGDJRJINL GID SHGDJRJINL GID
PDJWVIHWNIH GU . [HiE QDXF]\FLHIL V]Ny# QDXF]\FIHL V] GU .[HiE QDXF]\FIHL V] GU .[HiE QDXF]\FIHL V] GU .[HiE
6IDUFJHZVND (ZD =DICFL SRQDGSRGVIDZRZ\FK GU 6IDUFJHZVND (ZD =DICFL 6IDUFJHZVND (ZD =DICFL 6IDUFJHZVND (ZD =DICFL
DRQUQH )$6 = - IHiE BIDUF]HZVND (ZD DRQUQH )$5 & DRQUQH )$5 & DRQUQH )$5 &
1-$ =DICFDRQUQH )$ 6 1-$ 8&.81$5 1-$ 8&.81$5 1-$ 8&.81$5
1-$ 333 333 333
=
NI PLQ el
6SHF QDXF]\ 3RGVIDZ\ SHGDJRJINL GID QDXF]\FLHIL V] GU
_IHiE BIDUFJHZVND (ZD =DICFIDRQUIQH )$5 &
1-$ 8&.81$5 333
7\G]
o) 6SHF QDXF]\ 3RGVIDZ\ SHGDJRJINL GID QDXF]\FLHIL V] GU
< _IHiE BIDUFTHZVND (ZD =DICFIDRQIQH )$5 &
= 1-$ 8&.81$5 333
(O]
L
o
7\G]
6SHF
QDXF]\
3RGVIDZ\
SHGDJIRJINL
GID
QDXF]\FIHL
V] GU .lHE
6IDUFTHZVN
D (ZD =Di
CFID RQ
IQH  )$
5 &
1-$
8&.8 1%
5 333




